

$$\frac{a}{q}, a, aq, \dots \Rightarrow \frac{a}{q} \times a \times aq = 27 \Rightarrow a^3 = 27 \Rightarrow a = 3 \Rightarrow \frac{a}{q} + a + aq = 21 \Rightarrow \frac{3}{q} + 3 + 3q = 21 \Rightarrow \frac{3}{q} + 3q - 18 = 0 \Rightarrow 3q^2 - 18q + 3 = 0 \Rightarrow q = \frac{-(-18) \pm \sqrt{(-18)^2 - 4(3)(3)}}{2(3)} = \frac{18 \pm 15}{6}$$

$$\rightarrow \begin{cases} q = 3 \\ q = \frac{1}{3} \end{cases}$$

حين حسابنا بسلاطين قابل قبل

$$(2x)^2 = (x^2 - 2)(x^2 + 5) \Rightarrow 4x^2 = x^4 + 2x^2 - 1 \Rightarrow 2x^2 = x^4 - 1 \Rightarrow (x^2 - 1)(x^2 + 2) = 0$$

$$Sr = 1x \frac{1 - (\frac{1}{3})^n}{1 - \frac{1}{3}} = 1x \frac{1 - \frac{1}{121}}{\frac{2}{3}} = \frac{121}{2}$$

$$x^2 = 1 \Rightarrow 1, -1, 2 \Rightarrow q = \frac{1}{3}$$

$$x = \pm 2 \Rightarrow 2, -2, 1, -1, 2, -2 \Rightarrow 2, -2$$

$$1 + q + q^2 + q^3 + q^4 = \frac{121}{11}, Sa = a_1 + a_2 + a_3 + a_4 + a_5 = a_1(1 + q + q^2 + q^3 + q^4) = 27 \times \frac{121}{11} = 27 \times 11$$

$$\text{مثلا: } A = \frac{1+27}{2} = 14, B^2 = 1 \times 27 \Rightarrow B = \pm 1 \Rightarrow \begin{cases} -A + B = 27 \times 11 + 1 = 298 \\ -A + B = 27 \times 11 - 1 = 297 \end{cases}$$

$$a_{n+1} = a_n + 1 \cdot d, d = \frac{-9a}{F} - (-27) = \frac{1}{F} \Rightarrow a_{n+1} = -27 + 1 \times \frac{1}{F} = 1$$

$$121, a_1, \dots \Rightarrow a_n = 121 \times q^{n-1} \Rightarrow a_1 = 121 \times q^0 = 1 \Rightarrow q = \frac{1}{3}$$

$$a_1, a_2, a_3$$

$$a_1 + 2d, a_1 + 4d, a_1 + 16d \Rightarrow (a_1 + 2d)^2 = (a_1 + 4d)(a_1 + 16d) \Rightarrow a_1^2 + 4a_1d + 4d^2 = a_1^2 + 20a_1d + 64d^2 \Rightarrow 2d^2 = 16a_1d \Rightarrow 2d(1 - 8a_1) = 0 \Rightarrow 1 - 8a_1 = 0 \Rightarrow a_1 = \frac{1}{8}$$

$$\Rightarrow 2d^2 = 16a_1d \Rightarrow 2d(1 - 8a_1) = 0 \Rightarrow 1 - 8a_1 = 0 \Rightarrow a_1 = \frac{1}{8}$$

$$\Rightarrow 2d(1 - 8a_1) = 0 \Rightarrow 1 - 8a_1 = 0 \Rightarrow a_1 = \frac{1}{8}$$

$$a_1, a_2, a_3$$

$$a_1 + d, a_1 + 3d, a_1 + 16d \Rightarrow (a_1 + 3d)^2 = (a_1 + d)(a_1 + 16d) \Rightarrow a_1^2 + 6a_1d + 9d^2 = a_1^2 + 17a_1d + 16d^2 \Rightarrow 3d^2 = 11a_1d \Rightarrow 3d(1 - \frac{11}{3}a_1) = 0 \Rightarrow 1 - \frac{11}{3}a_1 = 0 \Rightarrow a_1 = \frac{3}{11}$$

$$3d^2 = 11a_1d \Rightarrow 3d(1 - \frac{11}{3}a_1) = 0 \Rightarrow 1 - \frac{11}{3}a_1 = 0 \Rightarrow a_1 = \frac{3}{11}$$

$$K_{ar}, r_{ar}, a_r$$

$$K(a, q), r(a, q^r), a, q^r \Rightarrow r_{ar} q^r = \frac{K_{ar} q + a, q^r}{r} \Rightarrow -K_{ar} q^r + K_{ar} q + a, q^r = 0$$

$$\Rightarrow a, q(-K_{ar} q + r_{ar} q^r) = 0 \Rightarrow (q-1)(q-r) = 0 \Rightarrow (q-1)(q-r) = 0 \Rightarrow q=1 \text{ و } q=r$$

$$d = \frac{V}{F} \quad r = -\frac{1}{F} \Rightarrow a_r = r + r \times \left(-\frac{1}{F}\right) = -\frac{a}{F}$$

$$a_{1r} = r + V \times \left(-\frac{1}{F}\right) = \frac{1}{F}$$

$$a_{1r} = r + V \times \left(-\frac{1}{F}\right) = -1$$

$$\left. \begin{array}{l} a_{1r} = r + V \times \left(-\frac{1}{F}\right) = \frac{1}{F} \\ a_{1r} = r + V \times \left(-\frac{1}{F}\right) = -1 \end{array} \right\} \rightarrow \frac{a}{F} + \lambda, \frac{1}{F} + \lambda, -1 + \lambda \Rightarrow \left(\frac{1}{F} + \lambda\right)^r =$$

$$\left(\lambda + \frac{a}{F}\right)(\lambda - 1) \Rightarrow \frac{1}{F} + \lambda^r + \frac{1}{F} \lambda = \lambda^r + \frac{1}{F} \lambda - \frac{a}{F} \Rightarrow \lambda = \frac{-r}{F} \Rightarrow -r, -a, -\frac{r a}{F}$$

$$\Rightarrow q = \frac{-r}{F} = \frac{a}{F}$$

$$a_1 + a, q^r + a, q^r = V^r$$

$$t_1 = a_1 = a, t_r = a_r = a q^r, t_{1r} = q_v = a q^r$$

$$t_r = a q^r$$

$$t_r = \frac{1}{a} + d \quad \left\{ \begin{array}{l} a q^r = \frac{1}{a} + d \rightarrow d = a(q^r - 1) \end{array} \right.$$

$$t_{1r} = a q^r = a + q a (q^r - 1) = a + q a q^r - q a = r a q^r - q a q^r + \lambda a = 0 \Rightarrow a(q^r - q q^r + \lambda) \Rightarrow$$

$$q^r = \frac{q \pm \sqrt{1 - 4r}}{2} \Rightarrow \left. \begin{array}{l} r = 1 \rightarrow q^r = 1 \rightarrow q = r \\ q^r = 1 \Rightarrow q = 1 \end{array} \right\} \rightarrow \left. \begin{array}{l} q = 1 \rightarrow a + a + a - V^r + a = \frac{V^r}{F} \\ q = r \Rightarrow a + \lambda a + r a = V^r \end{array} \right.$$

$$a = \frac{V^r}{F} \Rightarrow d = a(q^r - 1) = \frac{V^r}{F} \times (1 - 1) = 0$$

$$a = 1 \Rightarrow d = a(q^r - 1) = 1 \times (1 - 1) = 0$$